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QUESTION 1

View the Exhibit

@ = J =]

yos SetCurrentRowWithiCey
= | 1 o
no . 1
c-ﬂEnu;:ruTF

What does the SetCurrentRowWithKey activity do for this task flow? (Choose the best answer.)
A. calls a method

B. calls the updateCustomer page

C. determines whether the user is navigated to the updateCustomer or callEmployeeTF activity
D. displays a pop-up that allows the user to enter a value for the current row

Correct Answer: B

QUESTION 2

Identify the two phases in the JSF life cycle that are always processed for a request, regardless if errors occur. (Choose
two)

A. Restore View

B. Apply Request Values
C. Process Validations
D. Update Model Values
E. Invoke Application

F. Render Response

Correct Answer: AB
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QUESTION 3

Which three statements are true about using a dvt;map component on a page? (Choose three.)
A. You need to define a connection to a server that provides map images.

B. You can use an exact street address to show a point theme.

C. There is no way to display the distance between two points on a map.

D. You can modify the icon used to represent a point on a map.

Correct Answer: A

QUESTION 4

Which three steps would you perform to enable security for an ADF application? (Choose three.)
A. Define authentication and authorization by using the configure ADF Security wizard.

B. B. Define which HTML pages must be secured.

C. Grant roles access rights to bounded task flows.

D. Grant roles access rights to unbounded task flows.

E. Deploy the application to a Java EE Security-enabled server to test the user roles.

F. Grant roles access rights to pagedefs for views in unbounded task flows.

Correct Answer. ABC

QUESTION 5

Which option is not supported by an af:table component? (Choose the best answer)
A. turning off filtering for specific columns

B. grouping two columns under a single title

C. expandable area for each row

D. nested af:table for each row

E. automatically switching a row to edit when the user clicks a row

F. multiple row selection

Correct Answer: C
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